
-

Illllll111111111111111111
*002*



•

.,

I
i'

I

Ir£:!

'?

I !l

/

?.µ.,c1fic conel1t1r,¡¡3ar¡¡ recorded on building consent

I
I

!

I I
I

I

I
----

I
I

---- -

I
- I ---- .



BuildinQ Information:
Roof Pitch: 4.8 deg.
Wind Load: Very High
Snow Load: Sg = O

Earthquake Zone: 1

Timber Grade: SG8
Bay Spacing: 4200mm
Purtin Size: 190x45
Purlin Centres: 900mm
Girt Size: 140x45, 140x45 (Rear)
Girt Centres: 1100mm
Wind ColumnSize: 2/ 200x50, NA (Rear)
Pole Size: 175 SED
Pole Embedment: 1100mm
Rafter Size: 240x45, 240x45 (Internal)
Rafter Span: 3600mm
Props Required: NA
Max Pole Height: 4200mm
Low Pole Height: 3600mm
Floor Type: Concrete
Front Overhang: None
Rear Overhang: None

Key:
= Clad Walls

[] = Column

(Ii =Pole

X = Single Row of Tensioned Multibrace

Notes:

Rev. Date Amendment
A 15/12/15 - Site address corrected

1111
MiTeke

o
o
N
"

o
o
?

o
o
(O
M

-
.....

WINDOW

4200

MITek New h•land Ltd. Job Name: NicholbeeHoney
CHRISTCHURCH
Phone: (03) 348 8691
Fax: (03) 348 0314

AUCKLAND
Phone: (09) 274 7109
Fax: (09) 27 4 7100 Job Site: 7849 SH12 Waimamaku.

www.mlteknz.co.nz
Emails to: farm.buildings@miteknz.co.nz CHent Name:

MITEK"' LUMBERLOK., BOWMAC" Brett Stewart
Drawn by:

C Taylor-Chong

WINDOW

ROLLER DOOR
I

4200

12600

Date:

9/12/15

Plan

I
Scale:

drawings to scale

4200

Drawing Number:

FB35214A
SheetNumber.

-
.....

1





Note: Girt pattern may vary, as long as spacings do not exceed 1100mm.

I Rafters: 1/ 240x45

I
Purlins: 190x45
@900mm crs

-
o
o
co
('I)

·?/
)("

I
Girts: 140x45 ?

?/---
-, ?-- -,

=

@ 1100mm crs I / Colurhn: 2/ 2JDx50 I Colu?: 2/ 2)Jx50 I

.

Pole: 175 SE? ? .

? Pole: 175 SE? ". ? Pole: 175 SED I

'I
.. ;¡•

-- ? '

I
Single tensioned I :/
Stripbrace (optional) I

o
o
N
.._¡-

300
Ii i

.

o •
o
..... • <

..... 4'

'I

100=== ... ·:-;:-· ·

,I

-

-

• q.•
d : ? 'á?

.....

11091
..... 4

II .-

100=== -
..

1?600?1
1756 1756 1756

7200

-

17.5MPa concrete
I...-

11091
...- 44 •. footing (typical)

"

100=== ..

1?6ºº?I
1756 ,-- -

--

Pitch: 4.8 deg.

MIi
MiTek®

MITek New z-lancl Ltd. Job Name: NicholbeeHoney
CHRISTCHURCH
Phone: (03) 348 8691
Fax: (03) 348 0314

AUCKLAND
Phone:(09) 27 4 7109
Fax: (09) 274 7100 Job Site: 7849 SH12 Waimamaku.

?¡·1?i?:kf??ti::fidings@miteknz.co.nz Client Name:

MITEK" LUMBERLOK" BOWMAC"' Brett Stewart
Date:

Section A

9/12/15 I
Scale:

drawings to scale

Drawing Number:

FB35214A
Sheet Number:

3



Note: Girt pattern may vary, as long as spacings do not exceed 1100mm.

I Rafters: 2/ 240x45

o
o
(0
('I')

I
Girts: 140x45 I /
@ 1100mm crs r

o
o
N
-.::I'"

? Pole: 175 SED I

300
II I

•· ,r

? Pole: 175 SED I

o
o
.....
.....

-A.·.

.-

II ,

,""4

100=== •. -

11
i.???

lc=6ºº=I

o
o
.....
.....

? Pole: 175 SED I

"""

=r 300
. ?

_4

II

100=== -

:

·-

o
o
.....
.....

I'

100===
L

•"" J 17.SMPa concrete
I-?-

I footing (typical)

-

3513 3513

7200

Pitch: 4.8 deg.

mr
Milek®

MITek New Zealand Ltd. Job Name: NicholbeeHoney
CHRISTCHURCH
Phone: (03) 348 8691
Fax: (03) 348 0314

AUCKLAND
Phone: (09) 274 7109
Fax: (09) 274 7100 Job Site: 7849 SH12 Waimamaku.

www.mlteknz.co.nz
Emails to: farm.buildings@miteknz.co.nz C6ent Name:

MITEK" LUMBERLOK" BOWMAC'" Brett Stewart
Date:

9/12/15

Section B

I
Scale:

drawings to scale

Drawing Number:

FB35214A
Sheet Number.

4



Note: Girt pattern may vary, as long as spacings do not exceed 1100mm.

I Rafters: 2/ 240x45

o
o
<O
C")

I
Girts: 140x45 I ?
@ 1100mm crs r

o
o
C'\I
"q"

? Pole: 175 SED I

300

? Pole: 175 SED I

o
o
.....
.....

.
,._

o
o
.....
.....

II

100== ?.???
,,

100=== .• -

o
o
.....
.....

/ Pole: 175 SED I

-

:=f 300
t.?

'
. ..

•
.... H

17 .?MPa concrete
I:

.. ·. footing (typical)
II

100=== ??·&?

3513 3513

7200

Pitch: 4.8 deg.

mr
Milek®

MITek New Zealand Ltd. Job Name: Nicholbee Honey
CHRISTCHURCH
Phone: (03) 348 8691
Fax: (03) 348 0314

AUCKLAND

?:,,ª't:l?+:ngg Job Site: 7849 SH12 Waimamaku.
=ii??g??ti?fidings@miteknz.co.nz Client Name:

MITEK• LUMBERLOKe BOWMACe Brett Stewart I
Drawn by:

e Taylor-Chong
Date:

9/12/15

Section e

I
Scale:

drawings to scale

Drawing Number:

FB35214A
Sheet Number:

5



Note: Girt pattern may vary, as long as spacings do not exceed 1100mm.

Rafters: 1 / 240x45 I

Purlins: 190x45
I@900mm crs

- o
o
N
,q- ;><

I
Girts: 140x45

?:,;,;:/4--
.,

?--
.,

=

@ 1100mm crs I / Columr\¡_2/ ZJ0x50 I / Colu? 2/ 2JDx50 I

Pole: 175 SE? "\ Pole: 175 SE? "' ? Pole: 175 SEDJ
, :# :: II

- ' -

""",

I
Single tensioned \ .

'

Stripbrace (optional)¡ o
o
<O
(")

- 300
..

:" 4

': ..

o ... o o., ..
o o o . 17.SMPa concrete

I..... ..... .....
..... ·'

11091
..... ..

11091
..... footing (typical)

·q

II -? II

100
I'

L,

'..t:

100=== - 100=== -. -?·

II Ii

1?6ºº?1 l-c6ºº?I 1?600?1
e:

1756 1756 1756 1756
- -

-

7200

Pitch: 4.8 deg.

111r
Milek®

MITek New Zealand Ltd. Job Name: NicholbeeHoney
CHRISTCHURCH
Phone: (03) 348 8691
Fax: (03) 348 0314

AUCKLAND
Phone: (09) 27 4 7109
Fax: (09) 274 7100 Job Site: 7849 SH12 Waimamaku.

www.miteknz.co.nz
Emails to: tann.buildings@miteknz.co.nz Client Name:

MITEK"' LUMBERLOKe BOWMAC" Brett Stewart I
Drawn by:

C Taylor-Chong
Date:

9/12/15

Section D

I
Scale:

drawings to scale

Drawing Number:

FB35214A
Sheet Number.

6



r?;III
w ?:.;_'t:.-.-----

T

1
..

-

I
I

., _

I
-····

I

__¡__

I
??

t-f!J i,4, >< 23/""P?P
?:. /

1

i

L I ? lt9rTQ</. IO ?
,¡._.)

'

-

..

J_-J. =?=- l ?



1/ BOWMAC B75 bracket
positioned between column
members.
(150mm minimum embedment
into concrete footing)

2/M12 bolts

E

i

DPC underneath
column end is

recommended

\-
400mm

DOOR/ WINDOW COLUMN FOOTING
DW01

Girt connected to pole or column with
LUMBERLOK Girt plate (x1 each end)
Fix with 6/ 30x3.15 nails per flange
or
3/Type 17-129 x 35mm screws per flange.
Girt Plates may be fixed above or below girt.

?

j?_
Girts spanning less than
1200mm may be skew-nailed
to pole/column using 4190mm
nails each end. This is at the
builders descretion.

OPENING FRAMINGFIXING
DW04

NII
MiTek®

(
.Y

CHRISTCHURCH
Phone: (03) 348 8691
Fax: (03) 348 0314

AUCKLAND
Phone: (09) 274 7109
Fax: (09) 27 4 7100

=¡,:\?"C.?ti??dings@mitaknz.co.nz Client Name:

MITEK"' LUMBERLOK"' BOWMAC"' Brett Stewart

2/ LUMBERLOK Girt Plate
Fix with 6/ 30x3.15mm nails
or
3/Type 17-12gx35mm screws
per flange

Fix both column members
with 90mm nails @250crs
staggered from each side.

DOOR & WINDOW COLUMN FIXING

2/ LUMBERLOK Girt Plate
Fix with 6/ 30x3.15mm nails
or
3/Type 17-12gx35mm screws
perflange

Fix both column members
with 90mm nails @250crs
staggered from each side.

WIND COLUMN FIXING

MITek New Z..lancl Ltd. Job Name: NicholbeeHoney

Job Site: 7849 SH12 Waimamaku.
Drawn by:

e Taylor-Chong

DW02

IC01

J

Opening Column

Position Girtplates
above door header

See sections for
girt spacings

---+¡__-For window
framing, use girts
as required.

OPENING FRAMING

2/ BOWMAC B75 brackets.
(150mm minimum embedment
into concrete footing)

DPC underneath
column end Is

___. recommended

\" 400mm

Date:

9/12/15

WIND COLUMN FOOTING DETAIL

DW03

I
Scale:

drawings to scale

IC02

Drawing Number:

Details FB35214A
Sheet Number:

7



c::i7
.

I

ED
EMBEDMENTDEPTH

(Ground level to
underside of pole)

-
100mm Cover

POLE FOOTING LT12

Girt connected to pole with
LUMBERLOK Girt plate (x1 each end)
Fix with 6/ 30x3.15 nails per flange
or
3/Type 17-12g x 35mm screws
per flange.
Girt Plates may be fixed above
or below girt.

'

/ Use the same
fixing detail for
Intermediate columns

Solid blocking every
second purlin.
Applies to double
rafters only.

·¡ ____,

¡:· Girts flush with
outside edge of pole
Cut girts to suit
Do Not Check Girts
Into Pole!

GIRT FIXING DETAIL

H'1:¡h Wind =2/M12 bolts
with 50x50x3mm washers
Very/Extra H'"h Wind =

2/M 16 bolts with
50x50x6mm washers

DOUBLE RAFTER BOLT FIXING

Fix Joist Hangers with
30x3.15mm nails or
Type 17-129 35mm screws
( See table below)

Purlin Size
LUMKBERLOK No. of Nails No. of Screws

Joist Hanger per flange perflange
140/ 190x45 JH 47x120 4 2
150/ 200x50 JH 52x120
240/290x45 JH47x190

6 3250/300x50 JH 52x190

PURLIN FIXING & BLOCKING

Eaves purlin fixed with
LUMBERLOK Tylok 4T10 and
3/ Type 17-149 x75mm skrews

Hillh Wind =2/M12 bolts
with 50x50x3mm washers
Very/Extra Hi¡;¡h Wind =

2/M16 bolts with
50x50x6mm washers

SINGLE RAFTER BOLT FIXING
RF09 RF01

Single row of tensioned
Multi-brace. Fix each end
with 11/ 30x3.15 nails and 3

nails at each purlin crossing

Single row of Tensioned
Strip-brace (non structural)
at 45-55º .Fix each end with
5/ 30x3.15 nails and 1 nail at
each girt crossing.
NOTE: Only applicable when
shown in sections.

FLUSH PURLIN & BRACING FIXING
RF02 RF08 RF10

NII
MiTek®

MITek New Zealand Ltd.
CHRISTCHURCH
Phone:(03) 348 8691
Fax: (03) 348 0314

AUCKLAND
Phone: (09) 274 7109
Fax: (09) 274 7100

www.mtteknz.co.nz
Emails to: farm.buildings@miteknz.co.nz
MITEK" LUMBERLOK8 BOWMAC"

Job Name: NicholbeeHoney

Job Site: 7849 SH12 Waimamaku.
Client Name:

Brett Stewart
Drawn by:

e Taylor-Chong
Date:

9/12/15 I
Scale:

drawings to scale

Drawing Number:

Details FB35214A
Sheet Number:

8



LUMBERLOK Tylok 4T10

- 100mm min.
( 90mm for Planer
Gauged Timbers)

??--,,<--- LUMBERLOK CPC80
fixed to each end of
purfín on the inside with
4/ Type 17-14x 35mm
screws each flange

RAFTER & PURLIN FIXING - CLOSED BAY
RF11

-

MIi
Milek®

60mm minimum vertical
distance from bolt hole
centres to rafter edge

2/M16 bolts with
50x50x6mm washers

MITek New Zealand Ltd. Job Name: Nicholbee Honey
CHRISTCHURCH
Phone: (03) 348 8691
Fax: (03) 348 0314

AUCKLAND
Phone: (09) 274 7109
Fax: (09) 274 7100

www.mlteknz.co.nz
Emails to: farm.buildings@miteknz.co.nz Client Name:

MITEK" LUMBERLOK® BOWMAce Brett Stewart

NOTE: Do Not
Spice rafters at
a Wind Column

END RAFTER SPLICE (2 BOL TS)

60mm minimum vertical Altetnate splice cut
distance from bolt hole for double rafters
centres to rafter edge

NOTE: Do Not
Spice rafters at
a Wind Column

Job Site: 7849 SH12 Waimamaku.

1/ 240x110x1mm
Nailon Plate (NP124).
1 plate on ouslide face of
rafter splice
Fill 100% holes with
30x3.15mm nails (drill for
bolts) keep holes clear
around washers

Drawn by:

e Taylor-Chong

SP02

2/M16 bolts with
50x50x6mm washers

2/ 240x110x1 mm
Nailon Plate (NP124).
1 plate on oustide face of
each rafter splice
Fill 100% holes with
30x3.15mm nails (drill for

bolts) keep holes clear
around washers

Date:

9/12/15

RAFTER SPLICE (2 BOL TS)

I
Scale:

drawings to scale

SP03

Drawing Number:

Details FB35214A
Sheet Number:

9



/Airseal
,,/ /"""""'

/
Screw fixing

to stud

t\
- - -

?--"-t_

Jamb under
flashing-

Steel&Tube ?Custom Orb wall
cladding

Compressible closed cell foam seal }
J 55mm

Jamb over flashing ¡ / 70mm

Tum out edge of sheet _/

Continuous
compressible foam

, 10mm min. cover sb'lp seal
,

,, ?+Wl?
,' 'tj}<fvi?

5*1e?·
Internal Cladding ?
ópftel\.l. "",

Steel & Tube Custom Orb

. / wall cladding

f

I

? 1
.

I

.

·"-- Window Frame
?

I

1
40 Window Frame

Sill flashing with 5º fall.

Do not seal this Junctipn

1 r ?TubeCusbn ? -

r1Jr11e1
,·//Underlay

//

Roller _ _¡

r Rivet and ....
- Tum out edge ofr-.-

:?E=m l--
tlaohlng

Screw lbdng to stud

..
? ...

•·'

·.·:
. ?.

<\
.. -

:·· ..

··

' -.

...

=··

,.

...
?:

J:.
?wÁ- _/;..-::Internal Cladding :- . ·;

??.,{. /.:
:?-·-:

. .....

<1 \ \ \ ,1 \ \ \ \ \ \ \ \

Jamb Detail

WltJ()o..l ?LL--
I __ _L

1-
11

II

I -¾-

Profiled foam sealerI ? between sUI & cladding

I

"'? -

I
'- "'-- .....,..,,,..,_

I
Steel & Tube Custom
Orb wall cladding

11 I I 111111

··--·

-'



Tumdown (for roof pilot,

below&")
..

50-!00mm

t t

e.

Gutter Cladding Dimension BracketRoof Area Downpipe
Depth ·x· SizeSize• SizeDrained

180 30x5FialIIJ100or
Low(28mm) 210 30x5

180
100x75

ST175
Medium (38mm) 220 30x5IIJ150or

High (155mm) 235 30x5
250

12&<100

Flat 305 40"5111150¡,r

Low(28mm) 336 40x5
350

100,C!OO
ST300

Medium (38mm)

I
345 i «lx5

Ii
IIJ200or

High (155mm) 380 I -!
<IOO

200x100
i

Internal -
tp-JrC>l J '

cladding
---__""

'

T
Centres

900

600

+-
>--1NolcllintopenJ

I

. building paper

t

,¡
----1'---

ii
'

/; -'\_,
Und--, J ?/ ¡ I

, ,
..

s I
íí

Timber purlin 3'-

Barge flash??g detail
/' -

/ fici-,r?/
Steel& Tube

/ wall cladding

Capping flashing
rivet fixed to/ cladding

?
lI

----"<"?l-- - ------

.

I

·,v\1\11\\\\?

\\? ?-??n-
\l ?

--------- building paper

,?? ,_.,_
I

-

I
r-. "o/i"+-

¡I /
.... & TUbe Cu,lom/ ? Orb wall cladding

t' /?-

I
Pan fix to bottom

c,, Tm--- -

._
. building paper

vermin flashing

2 Crest cover minimum

Hex head tlmberflx
-------screw

-?II
}tK P67(qtJ 14/13/15


